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3% The following symbol YYYY, or (YYYY), |, means base x number

1. Please find the following answer:
(1) What is the 8 bits pattern binary number equivalent to (-33)10 by two’s

complement representation? (2 4°)
(2) What is the 16 bits pattern binary number equivalent to (-33)10 by two’s
complement representation? (2 %)

(3) Convert the binary number (unsigned number) (01101.01), to decimal number.

2 %)
(4) Convert the binary number (unsigned number) (11111111), to decimal number.
2a)

(5) Convert the decimal number 3% into binary number. (2 %)

2. Show the IEEE 754 Excess_127 format (single precision) representation of the
numbers (+7.25);0 and (-5.25)10 . (10 %)

1 8 23
Excess_127 Exponent Mantissa
Sign

Single precision (32 bits)

3. Please change the following table to make it pass the first normal form (INF)
criteria. (10 4)
A B C D
1 70 65 14
2 25,32,71 24 12, 18
3 32 6,11 18
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4. B 4o¥ = uHtz 1% - (Postorder)it 3¢ % FHIGDEB C A ; ¥ A (Inorder)i& ¢
ZFDHGIBEAC ; (1)#X% & sb = st (Binary Tree) - (2)sb = THt Z AT
(Preorder)i& 3¢ &4 7 (10 %)

5. —3 4% Cache 89 &M A 4T > 3% CPU f£1 Cache ¥ Hkt ey F3etri s
10 ns > CPU 5 Main Memory + F#&4-F3485F % 80 ns &% 4 ¥ £(hit
ratio) % 80% » it H CPU FRE M &-F35HF/M 2 (10 &)

6. FTat—EMR C HEAER  HEHEITARE LR - (105)

#include <stdio.h>

void cube(int *n);

int main(){
int number = 5;
int *num = &number;
printf("%d", number );
cube(num);
printf( "\n%d", number );
return 0;

}

void cube(int *n){
= *p * *p * *p.

}

T. 3 t# Two-Pass Assembler # One-Pass Assembler #4% E RAZ&2%5 -

(10 4%

8. #REHEAB/(AEXETIUNREEHFAHE &KX factorial(n) » 4
AT HAAEE n! (Bp [¥2%3--*n) #4485 Rl n AR KT &K

factorial (n) $hATE5 €% A4+ 1A - (10 )
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9. RJERR b 4L T Java #h4kik > EAEEITO o 42mE4TX o

(a) Fa =3, Al (+ta) EN4-2 %)

(b) &4 & static #9 method ¥ > T4 A this - (2 %)

(c) HHAETHILZE byte H&E - 2 9)

(d) thisO) A& super() f %#8%] 493845 70 (constructor) TR & H 3 - (2 o)
(e) L EHTH new ) EA M - 2 »)

10. TEX—MEMR Java #EHRX » FEHIITHRIHAER - (109)

class point {
int x;
inty;
public point(int x, inty) §
this.x = x;
this.y =y;
}

}
public class app ¢

public static void main(String args[]) {
point pl = new point(2, 5);
point p2 = new point(2, 5);
if(pl ==p2) {
System.out.print("Equal points");
}
else {
System.out.print("Not equal points");
}
}
}

FEIH H#3H



